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How Do You Buy Something In Mexico?

For any sentence below, circle the member of the given replacement set that is the
solution. Find your answer in the code key and notice the letter next to it. Print this
letter in the box at the bottom of the page that contains the number of that exercise.
Keep working and you will discover the answer to the title question.
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+9=15 {4,2 -2} @18— x=6x—-14 {4,3,2}
®7+4x= -1 {3,-3,-2} Bey -10=y+25 {7,-3,-1)
@26 -8t=-30 {578 -2t +7=5t-56 {1,5,9}
@11 =6x-13  {4,-2,1) 98+ 15a =11a {2,238}

®-7n+5=12 {9, -3,-1) 65—y=—4y+29 {-8,8, -4}
®16-ax=24 {2,-2,7) @2-7k=-k+20 {6, 6,3}
@-75=-25+5d {5-10,10} @an+3=2n-4 {-7,1,-5)
8=-2y-18  {4,-4,-5) @9-8x +1=81+2x {48, 8}
@ou-16=20 {4,32) @-12m =5m + 68 {5, -9,~4}
T12=12r+24  {-1,72,73} @ -27=12-4x {4,3,-3)

M52 + 21p.=10 {1,722} @-5+7y=43-y {6,110}
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CODE KEY
10| H
9 | K
8 | M
=7 | D
6 | G
S| T
4 | S
-3 [ N
2 |0
1 | A
1 R
2 E
3 | W
4 U
5 k.
6 P
7 Y
8 | C
9 l
10 |V




